EARAROBEEIERT — 2 N— IBISH —F

201898 1H (£) 2@E/NE11H

R Xl

REEFI

CER) B

‘ (%] ‘ (EmmEl  — | 4 (5) 17000 KB

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o .o —p = . C1oa Sz
~NTFRNLT— [B] # 3 | HER 1.(453).7 14-12-8-6 | 36.9 | 86.6 | 4 | 486 %ﬁ_é¥§>
L:O0—-Kp+a7 B:oe~xaril—oa +4) [ia=Eae]

# 3 | B. 7UKyZ 1:45.9 2-2-2-2 [38.0] 84.9 | 2 446 | BNE (ER)
7~ X [B] 56.0 (1 1/4) +8) AIRBAT
L:Jj7—3IV7> B:X¥+v577¢3 N> T -5

— N Ele sy : -3-3- BE—% (F%)
A=A TIHA i3 Fras 1.?263.2 3-3-3-3 [37.9| 82.2| 3 ::32) b=
A1 agR—5— BNX/XTLE— T EAtE
> 4 3 | EHR 1:46.2 1-1-1-1 | 38.3 | 82.3 | 11 462 | EEB— (ER)
¥—Jzl-= 54.0 () (32 | BASHIIERR
R:ANTz—JI B:vELFIOXF— M7 7 — L4
s 43 | NIXEH 1:46.6 7-7-6-6 | 38.0| 78.6 | 8 456 | HEAARR= (ER)
T4 FIVY—I £752.0" 2 1/2) -6) EERHo LS
A:Congrats HB:tv ML A J—YTr—LA
N e 46. -12-11-8 | 37. . wmOEN (ER)
ZTYLGRIAN 35S Gae | TR S0
RixF1=Gr—2 B:HLFa1—Z7AI FHREHS
- s FEHE : —15-15- FHhE— (EH)
TFARTS Y i 3 == (11416/48> 16-15-15-14| 37.1 | 76.7 | 10 (4236) ﬁa‘ﬁﬁ@ﬂ
WiYZZXE—3IZRE— B2 TRAFVLIL Heh 82
N . HEmIGE : —14-13- eEEL (EXR)
AL gyt ah i 3 i 1.(427).1 13-14-13-11| 37.8 | 74.0 | 15 zzg)z e
LYY G4 TSR B:AASaIN T~ =AME B
N 4 3 | FMEBZ 1:47.3 5-6-3-4 [39.0| 73.0 | 9 446 | NINEE (3ER)
9|5|10| FTENAZIL 56.0 (1 1/) o |EEBE
L:7UF—v BT RINA D — AFEEARS
S 3 | FEE 1:47.9 5-3-8-9 | 39.1| 67.9 | 12 | 494 |7ARE (RR)
10 4| * T /EI'?V’]'D@ ¥¢55.0 (31/2) © AT
R:F—TTVILTF BiH—Utih EEKS
[Pt 4 3 | HPE 1:48.2 9-7-7-9 | 39.5| 65.8 | 16 480 |wNFEZ (BR)
11 1 T TFHF—IL 56.0 2 (+10) (B) =SBHS
L:Er7OyY Biv—XA RFd—LK =Sl
3 # 3 | BEfhER 1:48. 9-10-12-12 | 39.1 | 65.4 | 7 440 | HAEE (ER)
12/ 8115 L—XEZ NUT A51.0 (7€) (+8) (%) O—LiL—>29
R:24—-1)>50-X B:T7E-—LRHHZX b e ]
= S 43 | HALBAF 1:48.2 3-3-3-4 |39.9] 66.2 | 1 486 | BRE (RR)
13159 | P>Z71XT VY 6.0 iy K| e
/TR BHLF-Hr54X TADAS
o KL — 43 | AEEN 1:48.8 9-10-8-12 [ 39.9 | 61.3 | 6 496 |BE (FH)
14]7113| L' v FV=7 56.0 3 1/2) 4e) | ) ERE-IL-v>7
L:ANTz—FI B:T7IT7I%>FIT pu e}
< s > 3 | BREBEH 1:50.9 15-16-16-15| 39.7 | 43.6 | 14 | 474 |FHPEZ (RX)
15/8[16| TV 7Y 27— T asso (514) Oy |
R b=t RILED BiAYILLNA—b it s
SN H 3 E B = 7-7-13 = = 13 466 | THENL (BEXR)
EH 3| FIY/IN2R 56.0 (chitb) (1) | RAAIET
RiFAT ALY BAAS L IN—T 1 — chEHKIS
@ 71 L
) 49.9-37.8
NAZZA L | 7.1-11.1-12.2-13.0-12.4-12.1-12.0-12.4-13.4
® I —F—@EBIERL
13=3r= 5,6(2,9) (4,10) (3,14) (8,15,11,13)-7,12-16,1
20—+ — 5,6(2,4,9)10(3,14,11) (15,13) (8,12)-7-1,16
Gol=5r= (x5,6)-(2,9,10)14,11(4,12,13)8,15(3,7) 1=16
40—+ — (¥5,6)-2-(9,10) (14,12)8(4,11)7(15,13)1=16 3
[ N3
B O 12 680M 714K 6-12 750M e E 3-6 1,810 JEHE 2-6-12 3,350/
8 B 12 200M 2-12 730M B = 6-12 1,970/ B 12-6-2 19,360M
6 1704 2-6 660 B H 12-6 3,580
2 210M

ABICOVWTRDTEEERROODE. TR LIV,



